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Answers for Lesson 4-2, pp. 208-211 Exercises

1.

10.
12.
14.
16.
17.

a. Given
b. Reflexive
c. AJKM
d. ALMK

IE = GH, EF = HF:given. Fis the midpoint of GI; given.
I[F = FG by the definition of midpoint. Therefore, AEFI =
AHFG by SSS.

Itisgiventhat WZ = ZS = SD = DW.ZD = ZD by the
Reflexive Property of Congruence. Therefore, AWZD =
ASDZ by SSS.

Yes; OB = OB by Refl. Prop.; ZBOP = ZBOR since all
rt. 4 are =; OP = OR (Given); the A are = by SAS.

Yes; AC = DB (Given); AE = CE and BE = DE
(Def. of midpt.); LZAEB = £LCED (vert. 4 are =)
AAEB = ACED by SAS.

No; either PQ = QS is needed for SSS, or 2T = /R for
SAS.

Yes;since AC = AC by the Refl. Prop., the A are = by
SAS.

LG = MN 9. /T=/VorRS=WU
WV,VU M. LW

LU, LV 13. WU

/X 15. XZ,YZ

Yes; AACB = AEFD by SAS.

Yes; APVQ = ASTR by SSS.

Geometry Chapter 4 m



© Pearson Education, Inc., publishing as Pearson Prentice Hall. All rights reserved.

Answers for Lesson 4-2, pp. 208-211 Exercises (cont.)

18. LAXN = LGXR (Vert. £ are =.), AX =GX and NX =
RX (def. of midpoint),so AANX = AGRX by SAS.

19. A

20. AANG = ARWT;SAS

21. AKLJ = AMON; SSS

22. Not possible;need ZH = £P or DY = TK.

23. AJEF = ASVF or AJEF = ASFV;SSS

24. ABRT = ABRS; SSS 25. APOR = ANMO;SAS

26. GK bisects £JGM,s0/JGK = LMGK (def. of bisect.).
GJ = GM (given),and GK = GK (Reflexive Prop. of =).
AGJK = AGMK by SAS.

27. AE and BD bisect each other,so AC = CFE and BC = CD.
LACB = £DCE because vert. 4 are =. AACB = AECD
by SAS.

28. No;even though the 4 are =, the sides may not be.

29. No; you would need ZH = /K or GI = JL.

30. yes; SAS

31. /’-\ 32. /’-\

J K J K
P P
N N
M M
Lt S IR
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Answers for Lesson 4-2, pp. 208-211 Exercises (cont.)

33.

34.
35.
36.

37.

38.

39.

40.

41.

a-b. Answers may vary. Sample:

a. wallpaper designs; ironwork on a bridge; highway
warning signs

b. = A produce a well-balanced, symmetric appearance. In
construction, = A enhance designs. Highway warning
signs are more easily identified if they are =.

/ISP = / PSO; AISP = AOSP by SAS.
IP = PO; AISP = ANOSP by SSS.

Yes; AADB = ACBD by SAS; ZADB = £ DBC because
if || lines, then alt. int. 4 are =.

Yes; AABC = ACDA by SAS; ZDAC = £ ACB because
if || lines, then alt. int. 4 are =.

1. FG || KL (Given)

2. /GFK = £LFKL (If || lines, then alt. int. 4 are =.)
3. FG = KL (Given)

4. FK = FK (Reflexive Prop. of =)

5. AFGK = AKLF (SAS)

AM = M B because M is the midpt. of AB. /B = LAMC

because all right 4 are =.CM = DB is given. AAMC =
AMBD by SAS.

HG = HK + KG and KL = KG + GL by the Seg. Add. Post.
Since HK = GL, use subst. twice to get HG = GL + KG =
KL.So HG = KL and the A are = by SSS.

AMNO = AOLM by SAS. Therefore ZNMO = £LOM by
def. of = A,s0 MN || LO by the Conv. of the Alt. Int. 4
Thm.
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Answers for Lesson 4-2, pp. 208-211 Exercises (cont.)

42. Answers may vary. Sample: f\i

43. a. No; the angles are not necessarily =.

b. No;sample explanation: the 4 can be changed without
changing the side lengths.

¢. Answers may vary. Sample: a diagonal
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